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Solve the following difference equation by using Code No. : B-273(B)
generating function method : Annual Examination - 2017
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T, The chance of one event happening is the square of
the chance of a second event happening, but the odds

against the first are the cube of the odds against the
second. Find the chance of each event.
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Give an example of a relation which is reflexive but
neither symmetric nor transitive.
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Find a minimum Hamiltonian circuit for the following
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Find the generating function of the following numeric
function :
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Let a, b, ¢ be numeric functions such that a*b=c,
Given that :
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Minimize the machine whose state table is given
below:
3w (State) | a9 (Input) | FrfF (Output)
0 1
S, S, S, 1
S, S, S, 0
S, S, S, 0
S, S, S, 1
S, S, S, 1
S, S, S, 0
S, S, S, 1
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Solve the difference equation a, -4a,_,+4a,_,=2".
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